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2.3 geometry

0000000000000 0000 (n)D00D0000O0D000DO0O0DQUOODOD0ODDOODDOOOOO

{a) (h)

//—f— \ _1'2
/ o \
3

e xED o)
™\ F\F I (d[ \

E R

()

Xy

ot T, =L
X !

\v/} X =0

Figure 1. (a) The geometry of the Helmholtz resonator in the two-dimensional case n = 2. The resonator volume ¢, has a
diameter of order £ and a volume of order V. ~ &* (¢ in dimension n = 3). The channel I', has a length L, of order & and
an opening diameter of order £* (¢ in dimension n = 3). (b) The obstacle .. is constructed from X7\ ey by scaling with £
and by removing the channel I°,..
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